
Prof. Mathieu Taschereau-Dumouchel
Spring 2018

ECON 3040
Intermediate Macroeconomic Theory

Midterm 2: Review session

1



About the exam :
• The prelim is this Wednesday March 28th in class at the 

usual time. (Arrive 5-10 minutes early)
– The midterm is cumulative but focuses on new 

material

• Bring :
• Bring your Cornell ID
– Two cheat-sheet 8.5’’ x 11’’ (both sides)

• Handwritten, cannot be reproduction of large sections of 
material (lectures slides, textbook, problem set solution, etc)

– A calculator (no phone/tablet/computer allowed)
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Preparation for Midterm
• Review the problem sets
• Make sure you solve as many questions as you 

can from the textbook.
• Practice questions listed on lectures’ slides.
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Plan for today
• Go over the first problem set from PS1

• Answer questions
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FNCE 101 – Problem Set 3
Prof. Mathieu Taschereau-Dumouchel

Instruction: The problem set is due on Tuesday March 19 during the lecture. Late problem

sets will not be accepted. You may work on the problem sets in teams of no more than 4

people. If you work as a team, please turn in one copy per team with the names of all team

members listed on the first page.

Problem 1. (40 points) Money

Part a. ABC, Chapter 7, Analytical Problem No. 1. (to be changed)

Part b. ABC, Chapter 7, Analytical Problem No. 3.

Problem 2. (60 points) Consumer confidence

We now investigate the effect on the economy of a negative shock to consumer confidence.

Assume that the behavior of the economy is given by the following equations:

Goods and Services market

Y = C + I + G (Goods market eqm)

C = Z + 0.5 · (Y � T) (Consumer demand)

I = 60 � 50 · r (Investment demand)

G = T = 100 (Government budget)

Money market

M/P = L(Y, r + pe) (Money market eqm)

L(Y, r + pe) = 1

10
· Y � 50 · (r + pe) (Liquidity preference)

M = 100 (Money supply)

Labor market

Y = 200 (Full equilibrium output)
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Finding the IS curve
• Combine the equations on the Goods market
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where we keep the real economy as fixed (Y, r) and where cigarettes take the role of
money. A cigarette shipments is therefore an increase in the money supply. For the
market to stay in equilibrium the price level must therefore increase.

(b) Prisoners now from part a that when a shipment arrives the price of goods will go up and
that there will be inflation (pe > 0), which decreases money demand. Once again, for
the market to stay in equilibrium, the price of cigarettes right now will have to increase
right now. The prisoners want to buy goods before the shipment arrives since prices are
lower now, this then pushes prices up.

Problem 2. (40 points) Consumer confidence

Solution:

(a) We need to combine the specified equations:

Y = C + I + G

Y = Z + 0.5(Y � T) + 60 � 50r + T

0.5Y = Z + 110 � 50r

r =
Z + 110 � 0.5Y

50

(b) The IS curve is simply a downward-sloping line. When Z goes up, it moves up and to the
right.

(c) Combining the specified equations:

M
P

=
1

10
Y � 50(r + pe)

100
P

=
1

10
Y � 50(r + pe)

2
P
=

1
500

Y � (r + pe)

r =
1

500
Y � 2

P
� pe

(c) We know that in the long-run output is Y = 200. Plugging in the IS curve, we find that
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Finding the LM curve
• Combine the Money Market equations
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First equilibrium
• Long-run equilibrium for Z = 0 and πe = 0
– Y = 200
– The IS curve gives us interest rate r = 1/5
– The LM curve gives us the price level
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r = 1/5. We can now move to the LM curve to find the price level:

r =
2
5
� 2

P
1
5
=

2
5
� 2

P
2
P
=

1
5

P = 10

(d) A decline in Z is a shift of the IS curve down and to the left. Output and interest rates
declines in short run while prices stay fixed. In the long run, prices decline to move the
LM curve down and to the right in equilibrium where output is as before the change in
confidence and r is lower than before.
A&recession&from&a&decline&in&consumer&confidence&(desired&saving&goes&up)&

35&
(e) In the short-run the price level is still at P = 10 and M = 100. The LM curve is then

r =
1

500
Y � 1

5

The IS curve is
r =

�5 + 110 � 0.5Y
50
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Decline in confidence Z
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Short-run equilibrium with Z = -5
• Price is fixed at P = 10 and we have M = 100
• We need to combine IS curve with LM curve
– LM is: 
– IS is:

– Plugging back for interest rate gives r = 18%
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We have two equations and two unknowns. Solving for Y

1
500

Y � 1
5
=

�5 + 110 � 0.5Y
50

6
10

Y = 115

Y = 192

Plugging back in the IS curve, we find r = 18%. So that we indeed have a decline in r
and Y.

In the long-run, output goes back to Y = 200. The IS curve is now:

r =
Z + 110 � 0.5Y

50

r =
�5 + 110 � 100

50

r =
�5 + 110 � 100

50
=

1
10

The interest rate is lower than before, as predicted. We can now find the price level,

M
P

=
1

10
Y � 50(r + pe)

100
P

= 20 � 5

P = 6.7

So that the final price level is P = 6.7.

Problem 3. (40 points) Classical and Keynesian Analysis

Part a. ABC, Chapter 10, Numerical Problem No. 2.

Solution:

(a) Given that in the classical model Y = Ȳ, we must have real GDP, Y = 2210. Furthermore,
market clearing in loanable funds market implies that

Y � Cd � G = I
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Long-run equilibrium for Z = -5
• We go back on FE: Y = 200
• IS curve is

• To find price level, use LM
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Question?
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